BHIFHAY SR ouT N GROSS  HDCP NET

B B 2l —&= 36| 37 73] 1.0/ 72.0
HEiEls Bl BEN 40 39 79 5.0 74.0
I 3 | HR 36/ 38 14, 0.0 /4.0
A xR HEZ 42, 42 84 9.0 75.0
biL |45 e 35 40 75 0.0 75.0
o EF HizFE 42 44 | 86 10.0 76.0
6L & Bz 41| 45 86 10.0 76.0
86 ™HMHFE EIT 43| 40 83 6.0 77.0
O $vKk =44 41 42 831 6.0 77.0
102 e ZFsh 43| 43 86/ 8.0 78.0
11461 B%¥ 1A 42| 44 86/ 8.0 78.0
1261 WHE =&BR 41 47 88 10.0 78.0
136 = I 49| 41 90| 11.0 79.0
14461 FED B2 47| 40 87 8.0/ 79.0
1562 /DNEY  FiF 41 40 81, 2.0 79.0




AHIHFEBY SR

outr IN

GROSS

HDCP

NET

= B /e il 45/ 47 921 20.00 72.0
HEiels m2]lR BEE 44,500 | 94/ 22.0/ 72.0
ML AR EF 44| 44 88 13.0 75.0
4451 Jil B 46, 48 94, 19.0, 75.0
hiz | H T 49| 47 96, 20.0 76.0
6fifi TiB il 46, 46 92 16.0/ 76.0
i kAR =E 511500 1101, 24.0 77.0
8L AZE FE 611471 1108/ 30.0/ 78.0
i IlLK B= 5547 1102 24.0/ 78.0
10 BB #X 45| 47 92 14.0, 78.0
11450 nps BA 42, 51 93 15.0 78.0
1261 /DMRF BT 52/ 53 1105/ 26.0/ 79.0
1342 L H— 48| 46 94/ 14.0] 80.0
1440 |0 £— 50 51 101, 21.0 80.0
15fiL  [/INATER 2] 49/ 511 1100/ 20.0' 80.0




ABHLT1—X ouT IN GROSS  HDCP NET

1% i B fF 42 42/ | 84] 10.0] 74.0
=Bl EH KX 35 42 11 2.0 75.0
L 1BEE B 4341 84 8.0 76.0
A B =HY 48 39 87 9.0 78.0
b ERKRK BE 43042 85 7.0 78.0
6/ HEIL W& 55 41 96 17.0 79.0

ffffffff 6L |BZ8 =3 4738/ | 85 4.0 81.0
8fhr THHT FO%% 45400 85 3.0 82.0
i HAF #AF 48/ 40, | 88 5.0 83.0
106 2 = 48/ 49/ | 97 14.0 83.0
116 #HFF M 43 47 90/ 7.0 83.0
1260 B1F bEH 53 41 94/ 6.0 88.0
136 FHE —4K 58 570 115] 26.0 89.0




